Nowne: __
Review

| What is 123+87
A 15 remainder 7
B 15 remainder 3

C. 16 remainder 5

D 16 remainder 1

2 ' Becky and James have a total of 4-:- feet of yarn. Beck

How many feet of yarn does James have?

A 22
8

B 2.
_ 8
c 33

- 8
5

D 3-
8

3 . Which fraction model has a shaded area equivalent to

Date:

3
—7
127

y has 1—58- féet: of yarn.




e of the loaf is used in a

; "It A loaf of bread is cut into’ shces of equal size. Som
ch. The remammg =y of

recipe and E of the loaf is used to make a sandw:

the loaf is put into the refngerator

Wﬁte and solve an equation to find the fraction of thelloaf of bread that is

- used in the recipe.

Show your work.
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Natasha and Evan are each wrrtmg a 5—page essay. Natasha completed —% of her
essay in the morning and 5 of her essay in the afternoon. Evan com!ﬂe"ie'il = of

his essay after school. How much more of the total essay did Natasha complete

thanEvan?
AL
= 5
B 2
5
c 4
. 5
p 2
5.

{; . - of the cards shown, -113 has the number 1 and 1—72 have the number 3. What fraction of the cards have either a

lora3?
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_. .' 7. Mick and Jackle buy a large sandwnch to share They each eat ~2- of the sandwnch
5

How much of the sandwuch is remammg"

Show your work.
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